Chapel St Leonards Primary School Calculation Policy

Objective & Concrete Pictorial Abstract
Strategy

Division as sharing Children use pictures or shapes to share quanti- .
o S 12 shared between 3 is

Use Gordon ITPs for % $ @ @ 4

modelling
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12 shared between 3 is 4

| have 10 cubes, can you share them equally in
2 groups?
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- 2
tes. 12 = 3 =4
Children use bar modelling to show and support
understanding.
| have 10 cubes, can you share them equally in
2 groups?
000 000 000 000
12+#4=3
Division as grouping | Divide quantities into equal groups. Use number lines for grouping 28+7=4

Use cubes, counters, objects or place value
counters to aid understanding.
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Think of tne par 35132\”11*6@3. )pllt‘lt into the num-
ber of groups you are dividing by and work out
how many would be within each group.

20

20+-5=2
Sx?=20

Divide 28 into 7 groups. How many are in

each group?
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Objective &

Strategy

Concrete

Pictorial

Abstract

Division as grouping

Use cubes, counters, objects or place value
counters to aid understanding.-

24 divided into groups of & = 4

96 + 3 = 32

Continue to use bar modelling to aid solving
division problems.

20

204 0="?
2 x1=20

How many groups of 6in
247?

24+-6=4

Division with arrays

Link division to multiplication by creating an
array and thinking about the number sentenc-

es that can be created.
Eg15+3=5 5Sx3=15

154523 3FIx5=15%

Draw an array and use lines to split the array

into groups to make multiplication and division

sentences

Find the inverse of multiplication and division
sentences by creating eight linking number
sentences.

Txdm2B
dx7= 28
2B+Tmd
Bidu?
28 Txd
Budn?
du2B+7

Tu2B+ 4
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Objectve &

Strategy

Concrete

PFictorial

Abstract

Division with remain-
ders.

14+3=

Divide objects between groups and
see how much is left over

-
i

40+5

JB=6

Ask How many 55 in 407

Jump forward in equal jumps on a number line
then see how many more you need to jump to
find a remainder.

ﬁ/f\m 13

Draw dots and group them to divide an amount
and clearly show a remainder.

OOOOL

Use bar models to show division with remain-
ders.

Example wathout remainder

- Rk

+54+ 5+

0 5 1015 20 25 30 35 4

Example with remainder

+G+h+5+5+hH+

0 & 12 18 24 30 36 38

Complete written divisions and show the re-
mainder wsing r.

29 + 8 = 3 REMAINDER 5
T T T

divicdend  divisor guotient remmainder

= § fivas

= b sixes with a remainder of 2

For larger numbers, when it becomas mefficient to count n single multiples, bigger
jumps can be recorded using known facts
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Objective & Concrete Pictorial Abstract
Strategy
Divide at least 3 digit |9 +3 Tens Units Students can continue to use drawn diagrams Begin with divisions that divide equally with
numbers by 1 digit. with dots or circles to help them divide numbers | N0 remainder.
3 2 into equal groups. 2 1 B
Short Divisi SIS LIs o 3
o VIO
3 |00 ee 7 NN
©00 ee OO\OOYOO 418 7 2
Use place value counters to divide using the O Q O Q O O Mowve onto divisions with a remainder.
bus stop method alongside 8, E 2
| r
EE@E} lolo] | Craiatis:
| 4143 | 3
42 4 3= Encourage them to move towsrds counting in Finally move into decimal places to divide the
. ) multiples to divide more efficienthy. total accurately.

Start with the biggest place value, we are

sharing 40 into three groups. We can put 1 1 4 8

ten in each group and we have 1 ten left over. 5 5

© ee ‘ 1 1

O]

i)

)

We exchange this ten for tem ones and then

share the ones equally amaong the groups.

(=)

=

)

We look how much im 1 group so the answer

is 14.

0
8)5°

6 6
37
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Long Division

Step 1—a remainder in the ones

h to

041R1
4) 165

4 does not go into 1 (hundred). S0 combine the 1 hundred with the & tens (160).

4 goes into 16 four times

4 goes into 5 once, leaving a remainder of 1

th ht o

0400R7
8) 3207

8 does not go into 3 of the thousands. So combine the 3 thousands with the 2 hundreds (3,200)

8 goes into 32 four times (3,200 + 8 = 400)
8 goes into 0 zero times (tens)

8 goes into 7 zero times, and leaves a remainder of 7
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Long Division

Step 1 continued...

hto
061
4) 247
-4

3

When diuiding the ones_ 4 qoes into 7 one time. MU|1i|'J|‘j|’ 1 =4 =4 write that four under the 7. and subract. This finds
us the remainder of 3.

Check: 4 x 61+ 3 = 247

th h t o

0402
4) 1609
-8

1

When dividing the ones, 4 goes into 9 two times. Multiply 2 = 4 = 8, write that eight under the 9, and subract. This
finds us the remainder of 1.

Check: 4 » 402 + 1 =1 609
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Long Division

Step 2—a remainder in the tens

Two goes into 5 two times, or 5 tens
+ 2 = 2 whole tens —- but there is a
remainderl

To find it, multiply 2 x 2 = 4 write that
4 under the five, and subtract to find
the remainder of 1 ten

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
to to t o
2 2 29
2)58 2)58 2)58
-4 -4
1 18

Next, drop down the 8 of the ones
next to the leftover 1 ten. You
combine the remainder ten with 8
ones, and get 18

Divide 2 into 158. Place 9 into the
quotient.

Multiply 9 x 2 = 18, write that 18
under the 18, and subtract.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
t o t o t o
29 29 29
2)58 2)58 2)58

-4 -4 -4

18 18 18
-18 -18
0 0

The division is over since there are
no more digits in the dividend. The
quotient is 29.
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Long Division

Step 2—a remainder in any of the place values

1. Divide. 2. Multiply & subiract. 3. Drop down the next digit.
htao LA hta
1 1 18
20278 21278 2)278
=d =21
g o?

Two goes into 2 one time, or 2
hundreds + 2 = 1 hundred.

Multiply 1 = 2 = 2, write (hat 2 under
the two, and subiract to find the
remainder of zero

Mext, drop down Ehe 7 ol the 1eng
next to the zero

Divide. Multiply & subtract. Drop down the next digit.
hta hig hta
13 13 13
27278 27278 27278
F -4 -
o7 a7 07
- 6 - 6
1 18

Divide 2 info 7, Place 3 inbd the
quobent

Multiply 3 = 2 = &, write that & under
the 7, and subfract to find the
remainder of 1 ten.

Mexd, drop down the 8 of the ones
next o the 1 lefiover ien

1. Divide. 2. Muitiply & subtract. 3. Drop down the next digit.
hto hto hta
139 1389 139
2)278 21278 2)278
=2 -2 -2
or av ov
- 6 - 6 - 6
18 18 18
-18 -18
0 0

Divide 2 info 18, Place 9 inbd the
quaotient

Multiply & = 2 = 18, write that 18
under the 18, and subiract to find the
remainder of 2era

There are no mone digits bo drop
down. The quotient is 138




